
 

  :جواب المناقشة ا�ولى

ي عن /أجب، P(A) = 0.5 ،P(B/A)=0.2حادثين مستقلين بحيث كان  A ،Bإذا كان 

  : ا#سئلة التالية
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  لالح

  P(B/A)=P(B)=0.2بما ان الحادثين مستقلين فان 

١ - ( ) ( ) ( ) 0.5 0.2 0.1P A B P A P B= × = × =I  

٢ - ( ) ( ) ( ) ( ) (0.5 0.2) (0.1) 0.6P A B P A P B P A B= + − = + − =U I  

٣ - ( ) 1 ( ) 1 0.6 0.4P A B P A B= − = − =U U  

٤ - ( ) ( ) 1 ( ) 1 0.6 0.4P A B P A B P A B= = − = − =I U U  

٥ - ( / ) ( ) 0.5P A B P A= =  

٦ - ( ) ( ) ( ) 0.5 0.1 0.4P A B P A P A B= − = − =I I  

 

   


